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Abstract. Let {ξ(t), ζ(0) = 0, t ≥ 0} be a process with stationary independent increments. If ξ(t)
is a semicontinuous or almost semicontinuous process, then the simplified relations are established
for spectral functions in Spitzer’s formulas in termes of exponential function with the index of the
exponent, which is defined by the corresponding root of Lundberg’s equation.
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��� ������	�
� ��	����	�
� ���
��� ξ(t) �ξ(0) = 0� t ≥ 0� � 	������	��� ����
������� �������������	� ��	�
�� ����������� ���	��� ���� ��������� !���
���
����" #$� %&�" '�(� ���	����� ξ±(t) = sup(inf)0≤t′≤t ξ(t

′)� �� �
��	� � 
��� ������

���� �	��
����	� ���������		� �������������	�� ��	�
�) ��"�"� Eeiαξ±(t) ���	����
 ���� �� �"�" *�����	� ������	�� ���������� �� ���������	��� ��	�
���� N±s (x)
�±x > 0�" +�	�
�� N±s (x) , ������ �����	��� �	��
����	��� ���������		��� ����
������� �����	�� ����-,�	��� �	���	� ξ(t)"
��� 	����	�������	�� �� ��)�� 	����	�������	�� ���
���� ���������	� ��	�
��

N±s (x) �	��	� ����(� ���� � ��������	� ������.� ������ ���� �"�" ξ±(θs)" ��� �����

� ����(�		� ����������� ���� ������� ���������� ��-���� ��� ����������� ξ+(t)
�� τ+(x) = inf{t : ξ(t) > x}� x > 0"
'�(� ξ(t) / ������	�) ��	����	�) ���
�� � 	������	��� ����������� θs ��,

�����	�����) �������� (P{θs > t} = e−st, s > 0)� ���� ����" #0&� ������� $"1 � �������
�$"12�3�$"14�� �"�"

ϕ±(s, α) =: Eeiαξ+(θs) = s

∫ ∞

0

e−stEeiαξ±(t) dt

���	��� ���� �������	�.�		��� ���������� !���
����

ϕ±(s, α) = exp
{
±

∫ ±∞

0

(eiαx − 1) dN±s (x)
}
, (1)
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N+
s (x) = −

∫ ∞

0

e−stt−1P{ξ(t) > x} dt, x > 0,

N−s (x) =
∫ ∞

0

e−stt−1P{ξ(t) < x} dt, x < 0.
(2)

���� �������	
 ��	���
�� ���� ����� �����
�
� ������� ��� ��	 N±s (x)�
��	 ���������������� 
� ����� ���������������� ��� ���� ������� !��
 ���

�"�#$�%�"�##� �� ������ �����&
�
�� '' (�"%(�� )(* ���+�� ����,�-
&�	� . ������ +�/
�
��� �
�

� 0��� ��������� 	� ����,�1
&�	 ����
���&�� ���� �	 !��
 ��� N+

s (x)
��	 ���������������� ������ ��� ���� � ���������� 2 ������� !��
 ��� ��	 ξ+(θs)�
��	 ����� ���������������� ������ ��� ���� ��1 ��� � �����3�+��� �����&
�
� 	���
���+�
�� ��
�����-1
&�	 ��	 ������4 3�����
���� (P{ξ+(θs) > 0} = q+(s) > 0)

ϕ̂+(s, iz) =: E
[
e−zξ+(θs)|ξ+(θs) > 0

]
= E[e−zξ+(θs), ξ+(θs) > 0]q−1

+ (s),

� ��
�� ��	 0��������4 3�����
���� ϕ+(s, iz)� . ���3�� +��
��� ��������� 	� �����/
��� �������� ξ−(t) ��	 ���������������� ������ ��� ���� ξ(t) ���5	����� � �������/
��� ���51���� ���+��& ξ(t) < 0 ��� �������
���-+� ���  &��� ������� �"�%��� ��	
N−s (x)��

�� ������		
 ����
����	�� ��	���� N+
s (x) ��
 	����	�������	�� 
� ����

�� 	����	�������	�� ������ ��������� ����� ξ(t) ������
����� ���������/

������� ������ ��� �� � ���51���� �
��0���� �
∫ 0

−1 x
2Π(dx) <∞� � �����	�
�-

ψ1(α) = iαa′ − σ2α2

2
+

∫ 0

−∞

(
eiαx − 1− iαx�|x|≤1

)
Π(dx); �"�

a = a′ −
∫ 0

−∞
xΠ(dx) > 0

���

σ2 = 0,
∫ 0

−1

|x|Π(dx) > 0.

��	 ��� ���� ξ(t) � �����	�
�- �"� ����� ����+���� 67�89:; <�=�>� )?*� @���
����
.�A� )$* � B������� C�C� )#* �������� ������� ���4�
�3� ��5	��� ���������� ξ(t) > 0

� τ+(x) ����� �(�DE� ��	 F (t, x) = P{ξ(t) < x} � )(*�

∂

∂x
F (t, x) = tx−1 ∂

∂t
P

{
τ+(x) < t

}
, x > 0. ���

��	 ����� ���������������� ������ ��� ���� � ����������� ������������� ����/

���� �
��0���� � �����	�
�-

ψ2(α) = iαa+ λ1
iα

c− iα +
∫ 0

−∞

(
eiαx − 1

)
Π(dx), �(�

f(z) = E
[
e−zξ/ξ > 0

]
=

c

c− iα , λ1, c > 0, a ≤ 0,

�� �������� ����0�� ������� ��5	��� ������3� ��������� �����
� ���	3����	 ��/
��
��3� ����	 {τ+(x)/τ+(0) < t} � ���������� ξ(t) > 0 ������$�?$� � )(*�

∂

∂x
F (t, x) = tx−1 ∂

∂t
P

{
τ+(x) < t/τ+(0) < t

}
, x > 0. �?�

�� ������ �(� 
� �?� ��
�����--
&�	 
��������	� � 	��� �������� ����
� ���������/
����	 ��	 �������� ����
���&��� ���� �� ∂

∂xN
+
s (x)� ∂

∂xN
+
0 (x) ��� m = Eξ(1) < 0�

F����+���

P (s, x) = P{ξ(θs) < x}, P (s, x) = 1− P (s, x), P±(s, x) = P{ξ±(θs) < x}.
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 ξ(t) � �


������ ��� ���������	� ξ+(θs) ����������	�
���������
 ����������
 ��������� ! � ���! � ���

 ��"���� 	����������# $
����#
N+

s (x) 
�� ���	��% ������

ϕ+(s, iz) = exp
{∫ ∞

0

(
e−zx − 1

)
dN+

s (x)
}
, ���

∂

∂x
N+

s (x) = x−1P
{
ξ+(θs) > x

}
= x−1e−ρ+(s)x, x > 0,

�� ρ+(s) & ������ �������� '
������� k1(r) = ψ1(−ir) = s(

ρ+(s) =

{
P ′(s, 0)P

−1
(s, 0), σ ≥ 0,

∫ 0

−1 x
2Π(dx) <∞,

s(ap−(s))−1, σ = 0,
∫ 0

−1
|x|Π(dx) <∞.

)�*� m = Eξ(1) < 0+ ���� ρ+(s)→ ρ+ > 0+ N+
s (x) → N+

0 + x > 0�

∂

∂x
N0(x) = x−1e−ρ+(s)x, |N0(x)| =

∫ ∞

x

y−1e−ρ+ydy, x > 0. ���

���������� 	
��
� � ��� ���������
� ��
���� ��������

|N+
s (x)| =

∫ ∞

0

e−stt−1

∫ ∞

x

∂

∂y
F (t, y) dy dt

���� ���� �� � 
����

|N+
s (x)| =

∫ ∞

0

e−stt−1

∫ ∞

x

ty−1 ∂

∂t
P{τ+(y) < t} dy dt

=
∫ ∞

0

e−st ∂

∂t

∫ ∞

x

P{τ+(y) < t} d ln y dt.

!���� �
��
����

� "��� 
�# �� y$ ����# �� t �
�%�� #� �x > 0�

|N+
s (x)| =

∫ ∞

0

e−st ∂

∂t

[∫ ∞

x

ln ydP{ξ+(t) < y} − lnxP{ξ+(t) > x}
]
dt

= s

∫ ∞

0

e−st
[
lnxP{ξ+(t) > x} −E ln ξ+(t)�ξ+(t)>x

]
dx

= lnxP+(s, x)−E ln ξ+(θs)�ξ+(θs)>x =
∫ ∞

x

ln
x

y
dP+(s, y).

&�'� ��%��
� ��
���( N+
s (x) � ��'�)���� "���� P+(s, x) = 1− P+(s, x)

∂

∂x
N+

s (x) =
∫ ∞

x

(
ln
x

y

)′
dP+(s, y) =

1
x
P+(s, x), x > 0.

	���� � �� ��) ���$ ������� ��� 
����
�������
 % ����%� �������� P+(s, x) =
e−ρ+(s)x$ x > 0* !� m < 0 � s→ 0 �� ��� � �� ��) ���* �

������� 	� ��� �����	
 � �


������ ��� 

���� ���������	� ξ+(θs) > 0 �����,
�����	� 	��������-����


ϕ̂+(s, iz) =: E
[
e−zξ+(θs)/ξ+(θs) > 0

]
=

ρ+(s)
ρ+(s) + z

,

ρ+(s) = cp+(s) & ������ �������� '
������� k2(ρ+(s)) = s+ p+(s)p−(s) = s(s+ λ)−1+

��*�
∫ 0

−∞Π(dx) <∞� .�� ���

 ϕ̂+(s, iz) 
�� ��������� ���������� � �����������

	����������� $
������ N̂s(x)(x > 0)

ϕ̂+(s, iz) = exp
{∫ ∞

0

(
e−zx − 1

)
dN̂s(x)

}
�+�
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∣∣∣N̂s(x)
∣∣∣ =

1
q+(s)

∫ ∞

x

y−1P+(s, y)dy, p±(s) = P{ξ±(θs) = 0}, ���

N̂ ′s(x) =
∂

∂x
N̂s(x) =

1
q+(s)x

P+(s, x) = x−1e−ρ+(s)x, q+(s) = 1− p+(s), x > 0.

���� m < 0� ���� ρ+(s) →
s→0

ρ+ = cp+� N̂s(x) →
s→0

N̂0(x)� p+ = P{ξ± = 0}�

N̂ ′0(x) =
1
q+x

P
{
ξ+ > x

}
= x−1eρ+x, x > 0. ���

	�
�����
� ����	
 � ��� 
��������	� ��	���� N̂s(x) � ��� ��
����
� �
 �������∣∣∣N̂s(x)
∣∣∣ =

∫ ∞

0

e−st ∂

∂t

(∫ ∞

x

P
{
ξ+(t) > y/ξ+(t) > 0

}
y−1 dy

)
dt

=
∫ ∞

0

e−st ∂

∂t

(∫ ∞

x

P
{
ξ+(t) > y/ξ+(t) > 0

}
d ln y

)
dt.

��
�� �	�������		�� ��
��	��� �
 y � �
 t �	� 
���
! "
∣∣∣N̂s(x)
∣∣∣ =

∫ ∞

0

e−st ∂

∂t

1
P {ξ+(t) > 0}

[
E ln ξ+(t)�ξ+(t)>x − lnxP

{
ξ+(t) > x

}]
dt

=
∫ ∞

0

se−st

P {ξ+(t) > 0}
[
E ln ξ+(t)�ξ+(t)>x − lnxP

{
ξ+(t) > x

}]
dt

=
1

P+(s, 0)

∫ ∞

x

(lnx− ln y) dP+(s, y), x > 0, P+(s, 0) = q+(s).

#�$� �
 ��	� N̂s(x) 
��
"�%��
� � 	�&���% �������

N̂ ′s(x) =
1

q+(s)x
P+(s, x), x > 0.

����
� � ��� ���		�� �
�
! "
 ��� ��'$� 	����	�������	� ���� � ��
��
��

P+(s, x) = q+(s)e−ρ+(s)x, x > 0,

�������% ���( ��� m < 0 �� ��� ��� s→ 0 �������% ���( �
������� �� ������
�� ����������� ξ+(θs) ≥ 0 ������ � �)(��� 
 *)+ 
����������

���

��������
�

ϕ+(s, iz) =
p+(s)(c+ z)
ρ+(s) + z

= ϕ̂+(s, z)f−1(z), f(z) =
c

c+ z
, �,-�

� �������� ���������� �� �.� ��������� ���������
 �� ����������� !���"�� Ns(x)�
��#���� 
��$ 
����������
 ���

��������
�

N ′s(x) = N̂ ′s(x)− x−1e−cx = x−1e−cx
(
eq+(s) − 1

)
, x > 0. �,,�

%�� m < 0
N ′s(x) −→

s→0
N ′0(x) = x−1e−cx (eq+x − 1) , x > 0. �,/�

	�
�����
� � �,-� �������%! "


lnϕ+(s, iz) =
∫ ∞

0

(
e−zx − 1

)
dNs(x) = ln ϕ̂+(s, iz)− ln f(z), �,)�

�� ln f(z) �
$	� �������� �	������
� 0�����	�

ln f(z) = ln
c

c+ z
=

∫ ∞

0

x−1
(
e−zx − 1

)
e−cx dx. �,��

��
�� ���
��	
��� ��
�
������
��	
�
 
������	
1�		� ���! � ���
$ �,�� � �,)� 
���2
$�3��
� �
����� �,,�! � � �,,� ��� m < 0 � s→ 0 �������% �,/�( �
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� ������ ��	 
��
�
�� ��������� ����
�����

�������� 	
 ���������� �� t �
���� �������
� ������� ξ(t) > 0 
����������� ��
��
������� ��� x > 0

− ∂

∂x

(∫ ∞

0

F (t, x)e−std ln t
)

=

{
x−1e−ρ+(s)x, �
� ξ(t) �  ���
����� !�",

x−1e−cx
(
e−cq+(s)x − 1

)
, �
� ξ(t) �  ���
����� !	".

!�#"

$ �� m < 0% ���� ��� x > 0

− ∂

∂x

(∫ ∞

0

F (t, x)d ln t
)

= − ∂

∂x

∫ ∞

−∞
F (ey, x) dy

=

{
x−1e−ρ+x, �
� ξ(t) �  ���
����� !�",

x−1e−cx (e−cq+x − 1) , �
� ξ(t) �  ���
����� !	".

!�&"

��
���� 	
 '��(
����� ���)�� � ��� 
��� 	�	 
 *	+

ξ(t) = w(t)− t+
∑

k≤ν(t)

ξk, Ee−zξk = f(z) =
c

c+ z
, c > 0, !�,"

ν(t) - ������� ��������
 ���)�� � �������
����� λ > 0% w(t) - ����������� 
�����

���)��� ������ ������� ��� ���
���. /�� )�. ∂

∂xNs(x) � ∂
∂xN0(x) ��� c = 6% λ = 5

8 �
0�( � ��
����% ��  ���
���� ξ(t)

ψ(α) = −iα− α2

2
+ λ

iα

c− iα !�1"

���
� ������ iα = r 
���2������ ����� m = λc−1 − 1

k(r) = ψ(−ir) =
−r3 − (c+ 2)r2 − 2mcr

2(c− r) . !�3"

'�
����� 0���4��(� k(r) = s �
������� ��  �4����(�

r3 − (2 + c)r2 − 2(mc+ s)r + 2cs = 0, s > 0, !56"

� � ��� ���  �����7 r1(s) = −ρ−(s) < 0% 0 < r2(s) < r3(s)� 8��9��  ����� 
�������

(���������� ξ−(θs)7 ϕ−(s, α) = ρ−(s)
ρ−(s)+iα � :������  ����� 
��������� (����������

ξ+(θs)
ϕ+(s, iz) = r2(s)(r2(s) + z)−1r3(s)(r3(s) + z)−1f−1(z). !5�"

0�(���/�� ���2�� �
 !5�" 
���2������ ����(��
��� ;��

���

ln
rk(s)

rk(s) + z
=

∫ ∞

0

e−rk(s)x
(
e−xz − 1

)
x−1dx, k = 2, 3. !55"

8��
� ��������
 � !�<" �� !55" � ���
�(���/��
��� ���

����9���� !5�" ���������

∂

∂x
Ns(x) = x−1

(
e−r2(s)x + e−r3(s)x − e−cx

)
, x > 0. !5	"

$ �� m < 0% λ < c% ���� ��� s→ 0 r1(s)→ 0% r2,3(s) → r2,3 > 0� =�2�

∂

∂x
N0(x) = x−1

(
e−r2x + e−r3x − e−cx

)
, x > 0.

8��
� ��������
 � λ = 5
8 % c = 6 ��������� D0 = 9% r2 = 2.5 < r3 = 5.5

∂

∂x
N0(x) = x−1e−6x

(
e2.5x + e0.5x − 1

)
, x > 0. !5<"
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� �������� ��

��� �����	
 ���	�
�� �� �� ����������� ������� �
�
����	 ������
����� ���������
��������� 
 ∂

∂xNs(x) �	 ∂
∂xN0(x)� �
�	 � ��������� ��
������	 ���	�������� ����

��
���� �������� ξ(t) � �	�	������ c = 6�  �	����!�	 ���
	"�� �����	�� ���� 
��
�	�������������# $�	�%� �	�������������#& ����
 ���"���� 
�
	��� ������� ξ(t)
�	'�� ���	������ �����
�� E(n) ����
�
 n ≥ 2�

������� �	 (�#	� ξ(t) = S(t) − t ) ���"��� �� ������
	����� � �����	
� *�+ � ,-.
� #�/� �������� ���
 E(2) $S(t) =

∑
k≤ν(t) ξk&

ϕ(α) = Eeiαξk =
1
2

(
3

3− iα +
7

7− iα
)
, m = −2

7
.

0�	��� ��#�
�� ∂
∂xNs(x)� ∂

∂xN0(x)� x > 0�
����� 
������� �� �� � � ������
����
 �����	
� �������� �
�
����	 ���
�����


� �
��!���� ��������� 1�� s = 0 "� ��������

r3 − 7r2 + 6r = 0

�	� ������ r1 = −ρ− = 0� r2 = R+ = 1� r3 = 6� 1�� s > 0 �������� �
�
����	 �	�
������

r1(s) = −ρ−(s), 0 < r2(s) = R+(s) < r3(s),

r1(s) −→
s→0

0, r2,3(s) −→
s→0

r2,3 > 0,

�� ����	!	'�� �����
��� ξ±(θs)

ϕ−(s, α) =
ρ−(s)

ρ−(s) + iα
, ϕ+(s, iz) =

s

ρ−(s)
(3 + z)(7 + z)

(r2(s) + z)(r3(s) + z)
.

2����	����	 ξ+(θs) ���
����� 
� �����



ϕ+(s, iz) =
r2(s)

r2(s) + z
f−1
1 (z)f−1

2 (z), $3*&


� fk = ck

ck+z � c1 = 3� c2 = 7� ��%�

lnϕ+(s, iz) =
∫ ∞

0

(
e−zx − 1

)
dNs(x)

= ln
r2(s)

r2(s) + z
+ ln

r3(s)
r3(s) + z

− ln f1(z)− ln f2(z).
$34&

(	 ������ ����	%��� ���	��/��� 
 $34& ������	��� 5�
�	��� ��	#�
���

∂

∂x
Ns(x) = x−1

(
e−r2(s)x + e−r3(s)x − e−7x

)
, x > 0. $36&

�������� m = − 2
7 < 0� �� lnEe−zξ+

����	!	����� ������
��������

lnϕ+(iz) =
∫ ∞

0

(
e−zx − 1

) ∂

∂x
N+

0 (x) dx, $37&

∂

∂x
N+

0 (x) = x−1
(
e−x + e−6x − e−3x − e−7x

)
, x > 0.

8�� ���������� � $37& ��
������� ���	��������� �����
��	��� �� ����	!	'�� ����
��
�� E(2) ����� ξk � ���	����	�� c1 = 3 �	 c2 = 7�



�� �� �� ���	


�� ������		
 ���
����� ξ−(t) � �����	�� ���
����� ξ(t) < 0 ��
 	�
��	��


�����	�� ������ 
�������� � ������ �	
��
� 
�	��� ��� ξ(t) � ������
��� ���
���	����� �� �������� ξ−(t) ��
� ���	�	���
� ����� �������� �
	��
� ξ(t) < 0
���
�� � �	 
������
� �

� ���!�"� �	���
� ��� ���	����#

�� ξ(t) �	� �$����
� �	��	%��& σ2 = 0�
∫ 0

−1
|x|Π(dx) < 0� a > 0'

"� ξ(t) �	� 
��$����
� �	��	%��'
(	�	�� $����� ���
	�	��

P̃>(s, α) =
∫

R+
eiαxP (s, x)dx, P̃<(s, α) =

∫
R−

eiαxP (s, x)dx,

Φ̃−(s, α) =
∫

R−
P−(s, x)eiαxdx, Φ̃+(s, α) =

∫
R+

P+(s, x)eiαxdx, �")�

E±ξ(t) = Eξ(t)�±ξ(t)>0 = ±
∫

R±
P {±ξ(t) > ±x} dx,

E+ξ(t) =
∫

R+
F (t, x)dx, E−ξ(t) = −

∫
R−

F (t, x) dx.

������� �� ����� ξ(t) ����	����
�
	��� �	�
�
 �
���� � �
�
������ ���� � 	��

����
 �� �a = a′ − ∫ 0

−1
xΠ(dx) > 0�

Φ̃−(s, α) = as−1p−(s)
∫ 0

−∞
eiαxdP (s, x) + P̃<(s, α), �*+�

P
{
ξ−(t) < x

}
= F−(t, x)

= F (t, x) + a

∫ t

0

P
{
ξ−(y) = 0

} ∂

∂x
F (t− y, x) dy, x < 0.

�*��

���� m < 0 ���� �E+ξ(t) + E−ξ(t) = mt�

P
{
ξ−(t) = 0

}
= (at)−1 E+ξ(t) = (at)−1

∫ ∞

0

F (t, x) dx. �*"�

! �"�� 	������� ��
�	����	� ���		����#����

Φ̃−(s, α) = Eξ+(θs)
∫ 0

−∞
eiαxdP (s, x) + P̃<(s, α), �**�

F−(t, x) = F (t, x) +
∫ t

0

∂

∂x
F (t− y, x)dEξ+(y)

= F (t, x) +
∫ t

0

y−1E+ξ(y)
∂

∂x
F (t− y, x) dy, x < 0.

�*,�

$�	������� -	 ��������� ���
	��
� �")� ��
�� �
������	

� �	
��
	�� �
�	
����.
���
� 
������
� �

�

ϕ(s, α) = 1 + iα
(
P̃>(s, α)− P̃<(s, α)

)
, ϕ−(s, α)− 1 = −iαΦ̃−(s, α). �*/�

0 �$�1 ���	��	1 �� �'2'�' ����' ������� �'�3 �	 *'� � 4*5� � ��	1��	

�� �*/� �
�	.

�������
� 
������
� �

�

ρ+(s)
(
P̃>(s, α)− P̃<(s, α)

)
= ϕ(s, α)− ρ+(s)Φ̃−(s, α),

� ����� ��
�� �	
��
��	

� ����	%�6 ��������	

� [·]−#[∫ ∞

−∞
eiαxG(x) dx

]
±

=
∫

R±
eiαxG(x) dx



��������� 	��
��
 �������� ��� ��������������
� �������� ��

���������	
� Φ̃−(s, α)� � 
�
�

Φ̃−(s, α) = ρ−1
+ (s)

∫ 0

−∞
eiαxdP (s, x) + P̃<(s, α). ����

�������
�� �� � ������� �� ������ � ��
�����
 ��� �  �!

p−(s) =
s

aρ+(s)
, ρ−1

+ (s) =
ap−(s)
s

.

"�
� � ���� �������� ��#�� ��
�� �$�%����� ����� �� s �� α �
������&��	
� �����
'�� ��������� ��(� 
��� �%�)������ ��

Eξ+(θs) = −ϕ′+(s, iz)|z=0 = ρ−1
+ (s) =

∫ ∞

0

P
{
ξ+(θs) > x

}
dx.

*���

ρ−1
+ (s) =

1
s
ap−(s) = a

∫ ∞

0

e−stP
{
ξ−(t) = 0

}
dt

= s

∫ ∞

0

∫ ∞

0

e−stP
{
ξ+(t) > x

}
dx dt

= s

∫ ∞

0

∫ ∞

0

e−stP
{
τ+(x) < t

}
dx dt.

��+�

,�
�� �$�%����� �� s �� ��+� ������ � �-� ��������� ��

aP
{
ξ−(t) = 0

}
=

∫ ∞

0

∂

∂t
P

{
τ+(x) < t

}
dx

=
∫ ∞

0

∂

∂x
F (t, x)xt−1 dx = t−1E+ξ(t)

��.�

� ��(� ��������� �������
�� �� � �$�) �������) Eξ+(θs) = ρ−1
+ (s)� ��
� � ���� �����/

��� ����� ��
�� �$�%����� ����� �� s �� α �
������&��	
� ��%0� 
��������0���� ��-��
������ � ��+�

Eξ+(θs) = s

∫ ∞

0

∫ ∞

0

e−stP
{
τ+(x) < t

}
dx dt,

Eξ+(t) =
∫ ∞

0

P
{
τ+(x) < t

}
dx.

,�
�� ��1�%��2�&����� Eξ+(t) ���)���
�

dEξ+(t) =
∫ ∞

0

∂

∂t
P

{
τ+(x) < t

}
dx dt = t−1E+ξ(t) dt.

,��
�����0� dEξ+(y) � ��%0�3 %���� ��-� �
������&�
� 
�%��������
�	 �%���4
1�%
��� � ��-�� � ���%�
� �����
�& ��������� �

�������
�� �� �%� λ < ∞ ������ 1�%
��� ��(� ���%���� �� �
���� �%�1����)

�%�����	 ��� �%�����%�3 ξ(t) = S(t)− t ����� ���%�
� (�� �  +! ��� 1�%
��� 567897��
:�%
��� ��(� 
�%�������� ��� ���������%�%���) ���%)� ξ(t) � a > 0� λ =

∫
R Π(dx) ≤

∞� ;���������3 ������ ��(� 
�� 
�
2� ��� ���������%�%���) ����� �%�2�
�� � a < 0
� λ ≤ ∞� �� ������	�&� 1�%
��� 567897�

'�� ���
������ �%�2�
� %�����

ξu(t) = u+ at− S(t), S(t) =
∑

k≤ν(t)

ξk, u > 0, a > 0,



�� �� �� ���	


�ν(t) � �������	
 ����
� � 	��
���
�	��� λ� P {ξk > 0} = 1� ��	

	����
��� ���� ���
x = −u 
������� 	��
	��	��� ���������
� �� ���
�
���� 	��
�
� 	 [0, t] � �������!

�� ���	�� �� u > 0" #� $���� � 
�����
 �� �
%���� 	��
	�����	 ���������
� ���
u > 0� m = Eξ(1) > 0� ξ(t) = ξ0(t)�

Ψt(u) = P {ξu(t′) < 0 ��� �
����� t′ < t} = F−(t,−u)

� 	��
	��	��� 
���
���� ��� u = 0� ��� �&	��� � ��'� 
����������� ��	

	����
����

Ψt(0) = 1−Ψt(0) = (at)−1
∫ ∞

0

F (t, x)dx. ��(�

)	� � ��* ������
�� $���� � ���� ����
�� 
�& ���

Ψt(u) = F (t,−u) + a

∫ t

0

Ψt−y(0)F ′(y, x)
∣∣
x=−u

dy, �+,�

� -��
	��	��� ���������
� Ψt(0) � ���*�
����� ��	

	����
���

E+ξ(t) + E−ξ(t) = mt, m = a− λμ1, μ1 = Eξ1 > 0,

����� 
������� �
�
� E−ξ(t)

Ψt(0) =
λμ1

a
− 1
at

∫
R−

F (t, x) dx −→
t→∞ q− =

λμ1

a
��� m > 0.

. 	� ���
������ /� � � ���	
�
�
�
�
��&� ����� ����
�� ���
" ���� �� �� ���
��-�
 ���	
�
�
�
�
��&� ����� ����
�� ��
��� 	������ �
� �����	 ���
�	 �	
�����
0����
�&�

r1(s) = −ρ−(s) < 0 < r2(s) = R+(s).
)
���- ���	�� ��
�	��� 
������� *"$" ξ−(θs)

ϕ−(s, α) =
ρ−(s)

ρ−(s) + iα

���

ϕ−(s, α) =
p−(s)(b + iα)
p−(s) + iα

, ρ−(s) = bp−(s).

1��&�- ���	�� R+(s)  ��
 ������
� 
������� *"$" ξ+(θs) � ����	��� �� �
���2 $��!
��	2 Q(s, α)" 3���
�� � � ��-�
 ���	
�
�
�
�
��&� ����� ����
�� ������ ξ(t) =
S(t)− C(t) � 
������
��� ��
�	��� 	 ���� �����

ψ(α) = ψ+(α) + ψ−(α), ψ−(α) = − λ2iα

b+ iα
, b > 0, λ1,2 > 0 (43)

�ψ+(α) = λ1(ϕ(α)− 1) � ���� ���� ����
�� 
���& S(t)� ψ−(α) � ���� ���� −C(t)�
��� �	��


���������	
 ��� �����	
 ξ(t) � �


������ ���� ���� ξ+(θs) ���
	��� ����������

ϕ+(s, α) = Eeiαξ+(θs) =
s

p−(s)
[(R+(s)− iα)Q(s, α)]−1, (44)

Q(s, 0) = s(p−(s)R+(s))−1, Q(s, iρ−(s))Q(s,−iR+(s)) �= 0.
���� m = Eξ(1) < 0� ��� R+(s) →

s→0
R+ > 0  ���� ξ+ 
�� ����������

ϕ+(α) = |m|b(R+ − iα)−1Q(0, α)−1, Q(0, 0) =
|m|b
R+

. (45)

!���"�� #�	�$�� %
�" ���	� �����
�	�"� ��$ u→∞
Ψ(u) = P{ξ+ > u} ∼ κe−R+u, κ ∼ P{ξ+ > 0} = q+ (46)

� �������� 	� 	
���
� �������� κ ������������ 
�����
���� e−R+u
�



��������� 	��
��
 �������� ��� ��������������
� �������� ��

���������� � ����� �� ��	
����
 ���� ξ(θs)

ϕ(s, α) =
s(b+ iα)
k∗(s, α)

, k∗(s, α) = s(b + iα) + ψ+(α)(b + iα)− iα,


	� ���
�	� k∗(s, α) = Q(s, α)(R+(s)− iα)(ρ−(s)+ iα)� �	 �����	�� �������� �	
�����
�	������ ���������� ��� !" � #$% ���	����&��'�( ��)�	����( ��( ϕ+(s, α)� *�( m < 0
� �!!" �������'�( ��	��+��
 ��������
 s→ 0 ���������,���( ��( ϕ+(α) �!-"� �

�	.�	��
�� �� 
��� ������ ξ(t) / �	��������������� )��',���' 	���
��
	������
���
.� ��( Ψ(u)� �	������� . #$% ����� ���
.�� �$��0"� �$�1$"2�$�1-"� �$�!!""� ���(�
�	&�' . ���	����� �	)������� �����
 κ ��( 
���������	 q+ �	 ��( 
����( R+ �
���
��	� 1�� 	)� $�� ���,�� 
�
����� ξ(1)�

����������

�� �� �����	
� �������� �	
��
���� �	
������� �
�
�� 
������ �����
�� �� �� �������� � ������������� ����� �� ��! �""�������� �� "���������# �$���#�  �!"#� �$���
�%&� �� '��(�)� *�*+*���
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